LOR Maths Challenge

2007 20th Anniversary 
Year 8

Question 1

How many vertices does a triangular prism have?

Markers use only:
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 2
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Triangle ABC is isosceles 

with AB = AC.
Side BC is half the length of side AB. 

If BC = 3.1 cm, what is the perimeter  of the triangle ABC?
Markers use only:
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 3



A + B     = 7


A + 2B   = 11
What is the values of 2A + B?

Markers use only:
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Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 4

A cube has a total surface area of 54 cm2.  
What is its volume?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 5

A, B and C are three different prime numbers.


A + B + C = 55
Find A, B and C.

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 6

If
 a = 2, 
b = 1
,
 c = 0  
and
 d = -1
Work out the value of

a5 + b4  + c3 + d2
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 7


Three triangles, like the one shown,

are used to make the shape below.



Calculate the area of the shape.
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 8


The rectangle has been drawn on
a square grid.

Part of the rectangle has been shaded.

What percentage of the rectangle has been shaded?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 9

This pie chart shows the lunch choices

of year 8 children at a school.

There are 56 children in year 8 who have 
a school meal.

How many children are there in year 8?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 10





The diagram shows a kite ABCD.

Triangle ABC is a right-angled
triangle.


Calculate the size of angle x and angle y

 

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 11

The graph shows the straight line with
equation y = 3x - 4

A point on the line y = 3x – 4 has a
y-coordinate of 50.

What is the x-coordinate of this point?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 12

This shape has been made from two
congruent isosceles triangles.

Work out the size of angle p.
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 13

Write the following in order of size, starting with the smallest.

0.22

3

19%

                              20

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 14

There are eight balls in a bag.

The probability of taking a red ball out of the bag is ¼
A red ball is taken out of the bag, and put to one side.

What is the probability of NOT taking another red ball out of the bag?
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 15

PQR is a triangle.
Calculate the size of angle c. 
(You will need to calculate angles a and b)

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 16

What is the value of x in this equation?


3x  –  10  =  x – 6
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 17

12 100 people visited the museum in 2005.

This is an increase of 10% on 2004.

How many visitors were there in 2004?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 18
A (0,6) and B (6,0) are points where

the line cuts the axes.
Point X is one third of the distance

along the line AB from A.

What are the co-ordinates of X?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 19

The diagram shows a rectangle
divided into four smaller 

rectangles, labelled A, B, C and D.
The ratio of area C to area B
is 1 : 2.

Calculate the area of rectangle A.
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 20


Two rectanglular sheets of paper 

have each been cut into two parts 

giving the four pieces labelled A,

B, C and D.

Calculate the size of angle x on piece C.



Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 21

A group of students were asked how they traveled to school.
Half said they walked.

One third said they traveled by bus.

In the group there were more than 20 students but less than 30.
How many students were in the group?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 22


The diagram shows the net for a dice.
The dice has six faces, numbered 1 to 6.

Write in the missing numbers so that
the numbers on opposite faces add up

to 7.
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 23

A is the sum of the values in the middle row.
B is the product of the values in the middle row.                                                 

Find A and B.

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 24 

A is the sum of the values in the middle row.

B is the product of the values in the middle row.
Find expressions for A and B.
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 25

Five people attend a meeting.
At the start, each one shakes hands with each of the others.

How many handshakes takes place?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 26

This shape is made from four identical
kites meeting at a point.
Calculate the size of angle x.
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 27

Two boys and three girls take a test.
The mean mark for the boys is 14.5
The mean mark for the girls is 16
Calculate the mean mark for the whole group of five.
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 28

Emma is organizing a concert and has 400 tickets to sell.
She sells 40% of the tickets herself.

Her friend Tom sells ¼ of the remainder.
What percentage of the 400 tickets did Tom sell?
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.

LOR Maths Challenge

2007 20th Anniversary
Year 8

Question 29

This four digit number is a cube number.

Write in the missing digits.
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	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 30

The number sequence and its rule is given below

5,  9,  13,  17,  …

rule is   4n + 1
What is the rule for this sequence?


7,  11,  15,  19,  …


Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 31

A driver took 3 hours and 56 minutes to complete a journey.
If he started his journey at 1245 at what time did he arrive, giving your answer in 12 hour time?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 32


In each direction, the numbered
arrows show the totals in those 

directions.
Find which number each letter
stands for.
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 33

What is the smallest number of children in a family, and what gender are they, if each child has at least one brother and at least one sister?
Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 34

The sum of three different numbers is 10 and their product is 30.
What are the numbers?

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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Question 35

The reciprocal of a number is the value given by dividing 1 BY that number.
So the reciprocal of 2 is ½
Calculate the sum of the reciprocals of the numbers 1, 2, 3, 4, 5

Markers use only:

	Tick box if next question is taken before this answer is correct. If ticked score 5, if not score 10.
	


You may use any of this space for working out.
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